

City of Tulsa Purchasing Department 175 E. 2nd Street 15th Floor Tulsa, OK 74103 TAC 309E Truck Bodies, Equipment & Accessories Citywide Bid Date: December 3, 2020 Senior Buyer: Ashleigh McCarn amccarn@cityoftulsa.org Please contact if you have any questions

1. Delivery:

If your bid is accepted and a contract is executed, state the number of days you need to deliver the Goods and /or to begin providing services:

You must be able to deliver the Goods and /or Services as specified in your Bid. Failure to do so may result in City terminating your contract or canceling the Purchase Order, pursuing collection under any performance bond, as well as seeking any other damages to which it may be entitled in law or in equity.

2. Pricing

(ESTIMATED QUANTITIES FOR EVALUATION PURPOSES ONLY)

				r of Oklahoma Inc., on Equipment	All Wheel Drive Equipment Manufacturing, Inc.	
ITEM	DESCRIPTION	Quantity	Unit Cost	Extended Cost	Unit Cost	Extended Cost
1	2,000 lb. Crane w/Manual 5-foot 6-inch Boom	2 or more	\$5,011.00	\$10,022.00	\$5,271.00	\$10,542.00
	ITEM 1 Total Extended Cost		\$10,0	022.00	\$10,5	42.00
2	2,000 lb Crane w/7-foot Boom (Pedestal Mounted)	1 or more	\$6,250.00	\$6,250.00	\$4,270.00	\$4,270.00
Option 1	Power Rotation	1 or more	\$0.00	\$0.00	\$2,926.00	\$2,926.00
	ITEM 2 Total Extended Cost		\$6,2	50.00	\$7,19	96.00
3	3,200 lb. Crane	3 or more	\$12,507.00	\$37,521.00	\$16,552.00	\$49,656.00
Option 1	Power Out/In, Up/Down Outriggers	3 or more	\$5,030.00	\$15,090.00	\$460.00	\$1,380.00
Option 2	Remote Control System	3 or more	\$975.00	\$2,925.00	\$934.00	\$2,802.00
	ITEM 3 Total Extended Cost		\$55,5	536.00	\$53,8	38.00
4	5,000 lb. Crane	2 or more	\$21,375.00	\$42,750.00	\$29,530.00	\$59,060.00
Option 1	Power In/Out, power Up/Down outriggers for curbside crane	2 or more	\$5,030.00	\$10,060.00	\$460.00	\$920.00
	ITEM 4 Total Extended Cost		\$52,810.00		\$59,980.00	
5	Strobe Systems					
Option A	Front & Rear for Cars	10 or more	\$815.00	\$8,150.00	\$854.00	\$8,540.00
Option B	Front & Rear for Pickups	10 or more	\$815.00	\$8,150.00	\$786.00	\$7,860.00
Option C	Front and Rear for Vans	10 or more	\$815.00	\$8,150.00	\$786.00	\$7,860.00
Option D	Front & Rear for SUV's	10 or more	\$815.00	\$8,150.00	\$854.00	\$8,540.00
Option E	Front & Rear for Trucks w/ Utility Service Bodies (8500-18000 GVW)	10 or more	\$815.00	\$8,150.00	\$734.00	\$7,340.00
Option F	Front & Rear for Trucks w/ Utility Service Bodies (19000-33000 GVW)	10 or more	\$815.00	\$8,150.00	\$734.00	\$7,340.00
Option G	Front and Rear for Trucks w/ Contractors Beds (10,000-18,000GVW)	10 or more	\$815.00	\$8,150.00	\$734.00	\$7,340.00
Option H	Front & Rear for Trucks w/ Contractors Beds (19.000 - 33,000 GVW)	10 or more	\$815.00	\$8,150.00	\$734.00	\$7,340.00
Option I	Front & Rear for Trucks w/Stake Body Flatbeds (10,000 - 18.000 GVW)	10 or more	\$815.00	\$8,150.00	\$734.00	\$7,340.00
Option J	Front & Rear for trucks with Stake Body Flatbeds (19,000 - 33,000 GVW)	10 or more	\$815.00	\$8,150.00	\$734.00	\$7,340.00
Option K	FRONT ONLY for Heavy Duty Cab & Chassis Trucks (33,000 - 120,000 GVW)	10 or more	\$465.00	\$4,650.00	\$396.00	\$3,960.00
Option L	Rear Mount Only Dump Bodies & Service Bodies	10 or more	\$349.50	\$3,495.00	\$854.00	\$8,540.00
Option M	Not Installed Item Rear Strobes	2 or more	\$90.40	\$180.80	\$360.00	\$720.00
Option N	Not Installed Front Strobes	2 or more	\$133.60	\$267.20	\$360.00	\$720.00
	ITEM 5 Total Extended Cost		\$90,0	93.00	\$90,7	80.00
6	Tool Boxes					

			Rush Truck Center of Oklahoma Inc., dba Perfection Equipment		All Wheel Drive Equipment Manufacturing, Inc.		
ITEM	DESCRIPTION	Quantity	Unit Cost	Extended Cost	Unit Cost	Extended Cost	
Option A	Tool Chests, Double Lid, Standard Size	10 or more	\$733.00	\$7,330.00	\$812.00	\$8,120.00	
Option B	Tool Chests, Double Lid Wide, Deep	3 or more	\$1,105.00	\$3,315.00	\$1,198.00	\$3,594.00	
Option C	Tool Chest, Double Lid, Wide	3 or more	\$875.00	\$2,625.00	\$962.00	\$2,886.00	
Option D	Tool Chests, Double Lid Standard, Mid Size Truck	4 or more	\$690.00	\$2,760.00	\$765.00	\$3,060.00	
Option E	Tool Chests, Single Lid, Standard Size	2 or more	\$725.00	\$1,450.00	\$815.00	\$1,630.00	
Option F	Tool Chests, Single Lid, Low Profile, for Mid Size Trucks	2 or more	\$525.00	\$1,050.00	\$543.00	\$1,086.00	
Option G	Tool Chests, Single Lid, Standard Size, for Mid Size Trucks	4 or more	\$690.00	\$2,760.00	\$772.00	\$3,088.00	
Option H	Tool Chests, Upper Side Box, 78 x 16 1/2 x 12 1/2	4 or more	\$760.00	\$3,040.00	\$957.00	\$3,828.00	
Option I	Tool Chests, Upper Side Box, 90 x 16 1/2 x 12 1/2	4 or more	\$790.00	\$3,160.00	\$979.00	\$3,916.00	
Option J	Tool Chests, Upper Side Box, 96 x 16 1/2 x 1/2	4 or more	\$810.00	\$3,240.00	\$993.00	\$3,972.00	
Option K	Tool Chests, Underbody Box, 96 x 16 1/2 x 12 1/2, 2 door	4 or more	\$450.00	\$1,800.00	\$437.00	\$1,748.00	
Option L	Tool Chests, Underbody Box, 24 x 18 x 18	6 or more	\$485.00	\$2,910.00	\$453.00	\$2,718.00	
Option M	Tool Chests, Underbody Box 36 x 14 x 16	4 or more	\$515.00	\$2,060.00	\$481.00	\$1,924.00	
Option N	Tool Chests, Underbody Box 36 x 18 x 18	2 or more	\$540.00	\$1,080.00	\$514.00	\$1,028.00	
Option O	Tool Chests, Underbody Box 48 x 18 x 18	4 or more	\$585.00	\$2,340.00	\$549.00	\$2,196.00	
Option P	Tool Chests, Underbody Box 60 x 18 x 18	2 or more	\$675.00	\$1,350.00	\$650.00	\$1,300.00	
Option Q	Tool Chests, 2 door, 96 x 18 x 18 mounted on top or stacked, Flatbed	3 or more	\$1,000.00	\$3,000.00	\$1,069.00	\$3,207.00	
Option R	Tool Chest, Over-wheel Box 51x13 3/16x8	1 or more	\$415.00	\$415.00	\$546.00	\$546.00	
Option S1	Window Grill, Mid-Size Truck	2 or more			\$492.00	\$984.00	
Option S2	Window Grill, Full Size Truck	2 or more	\$425.00	\$850.00	\$492.00	\$984.00	
Option S3	Window Grill, Service Body Truck	6 or more	\$425.00	\$2,550.00	\$492.00	\$2,952.00	
Option S4	Tool Chests, Bow Bracket, 1/2 Ton Truck	1 or more	\$310.00	\$310.00	\$367.00	\$367.00	
Option S5	Tool Chests, Bow Bracket, Super Duty Truck	1 or more	\$310.00	\$310.00	\$367.00	\$367.00	
Option S6	Tool Chests, Bow Bracket, Service Body Truck	1 or more	\$380.00	\$380.00	\$412.00	\$412.00	
	ITEM 6 Total Extended Cost		\$50,0	85.00	\$55,9	913.00	
7	Fire Extinguisher	10 or more	\$30.00	\$300.00	\$79.00 \$790.00		
	ITEM 7 Total Extended Cost		\$30	0.00	\$79	0.00	
8	Safety Triangles	5 or more	\$20.00	\$100.00	\$24.00	\$120.00	
	ITEM 8 Total Extended Cost		\$10	0.00	\$12	0.00	
9	Backup Alarm	10 or more	\$110.00	\$1,100.00	\$109.00	\$1,090.00	
	ITEM 9 Total Extended Cost		\$1,1	00.00	\$1,0	90.00	
10	Electric Brake Controller	3 or more	\$135.00	\$405.00	\$842.00	\$2,526.00	
	ITEM 10 Total Extended Cost		\$40	5.00	\$2,5	26.00	
11	6 or 7-way Trailer Light Connector						
11A	Cars	2 or more	\$145.00	\$290.00	N/A	N/A	
11B	Pickups	2 or more	\$105.00	\$210.00	\$142.00	\$284.00	
11C	Vans	2 or more	\$105.00	\$210.00	\$176.00	\$352.00	
11D	SUV's	10 or more	\$105.00	\$1,050.00	\$214.00	\$2,140.00	
11E	Utility Service Bodies	10 or more	\$105.00	\$1,050.00	\$142.00	\$1,420.00	
11F	Contractors Dump Bodies	3 or more	\$105.00	\$315.00	\$142.00	\$426.00	
11G	Flatbeds	10 or more	\$105.00	\$1,050.00	\$142.00	\$1,420.00	
11H	Dump Bodies	2 or more	\$105.00	\$210.00	\$142.00	\$284.00	
111	6-way to 7-Watt adaptor	5 or more	\$15.00	\$75.00	\$41.00	\$205.00	
	ITEM 11 Total Extended Cost		\$4,4	60.00	\$6,5	31.00	

			Rush Truck Center of Oklahoma Inc., dba Perfection Equipment		All Wheel Drive Equipment Manufacturing, Inc.	
ITEM	DESCRIPTION	Quantity	Unit Cost	Extended Cost	Unit Cost	Extended Cost
12	Hitch, Receiver Type					
12A	Cars, Class I, 2,000 lb.	1 or more	\$235.00	\$235.00	N/A	N/A
12B	Vans, Class II, 3,500 lb.	2 or more	\$245.00	\$490.00	\$940.00	\$1,880.00
12C	SUV's, Mid-Size Pickups, Class II, 3.500 lb.	1 or more	\$260.00	\$260.00	\$940.00	\$940.00
12D	Pickups, Class III, 8,000 lb.	5 or more	\$260.00	\$1,300.00	\$887.00	\$4,435.00
12E	Pickups, Class IV, 10,000 lb.	5 or more	\$270.00	\$1,350.00	\$898.00	\$4,490.00
12F	Contractractors Dump Beds, Class IV, 10,000 lb.	4 or more	\$395.00	\$1,580.00	\$720.00	\$2,880.00
12G	Utility Service Bodies Class IV, 10,000 lb.	10 or more	\$395.00	\$3,950.00	\$720.00	\$7,200.00
12H	Flatbeds, Class IV, 10,000 lb.	2 or more	\$395.00	\$790.00	\$720.00	\$1,440.00
	ITEM 12 Total Extended Cost		\$9,9	55.00	\$23,2	265.00
13	Pintle Hitch Combination					
13A	Pintle Hitch w/a 8,000 lb. Receiver Installed on 6,000 GVW Pickups	2 or more	\$125.00	\$250.00	\$954.00	\$1,908.00
13B	Pintle Hitch w/a 10,000 lb. Receiver Installed on 8,500 GVW Pickups	2 or more	\$145.00	\$290.00	\$973.00	\$1,946.00
13C	Pintle Hitch w/3,500 lb. Capacity Receiver Hitch w/Tongue & Ball on SUV's	2 or more	\$165.00	\$330.00	\$1,240.00	\$2,480.00
13D	Pintle Hitch w/a 3,500 lb. Receiver Installed on Vans	2 or more	\$125.00	\$250.00	\$1,240.00	\$2,480.00
13E	Pintle Hitch w/a 10,000 lb. Receiver Installed on Flatbeds, Contractor Bodies, Utility Service Bodies	2 or more	\$185.00	\$370.00	\$890.00	\$1,780.00
13F	Pintle Hitch w/a mounted on tongue only, NO HITCH	2 or more	\$125.00	\$250.00	\$809.00	\$1,618.00
	ITEM 13 Total Extended Cost		\$1,7	40.00	\$12,2	212.00
14	Air Pintle Hitch (PH210) w/7 way Connector & Glad Hands	5 or more	\$900.00 \$4,500.00 \$1,297.00		\$1,297.00	\$6,485.00
	ITEM 14 Total Extended Cost		\$4,500.00		\$6,485.00	
15	Lift Gates					
15A	1,000 lb. for Mid Size & Compact Pickups	3 or more	\$2,895.00	\$8,685.00	\$4,852.00	\$14,556.00
15B	1,000 lb. for 1/2 to 3/4 Ton Pickups	3 or more	\$2,895.00	\$8,685.00	\$4,852.00	\$14,556.00
15C	1,300 lb. Standard Type Liftgate for 1-ton walkthrough vans, panel vans, delivery and cube vans, utility service bodies	3 or more	\$4,600.00	\$13,800.00	\$3,759.00	\$11,277.00
15D	1,300 lb. Dumb thru type Liftgate for 1-ton walkthrough vans, panel vans, delivery and cube vans, utility service bodies.	3 or more	\$4,600.00	\$13,800.00	N/A	
15E	1,300 lb. Standard Type Liftgate for stake bodies and contractor beds	3 or more	\$4,600.00	\$13,800.00	\$3,759.00	\$11,277.00
15F	1,300 lb. Dump Thru type Liftgate for stake bodies and contractor beds	3 or more	\$5,500.00	\$16,500.00	\$6,905.00	\$20,715.00
15G	1,600 lb. Standard type Liftgate for 1-ton walkthrough vans, panel vans, delivery and cube vans, utility service bodies	3 or more	\$4,900.00	\$14,700.00	\$4,418.00	\$13,254.00
15H	1,600 lb. Dump thru type Liftgate for 1-ton walkthrough vans, panel vans, delivery and cube vans, utility service bodies	3 or more	\$5,500.00	\$16,500.00	N/A	
151	1,600 lb. Standard type Liftgate for Stake Bodies and Contractor Dump Beds	3 or more	\$4,900.00	\$14,700.00	\$4,418.00	\$13,254.00
15J	1,600 lb. Dump thru type Liftgate for Stake Bodies and Contractor Dump Beds	3 or more	\$5,500.00	\$16,500.00	\$7,390.00	\$22,170.00
	ITEM 15 Total Extended Cost		\$137,	670.00	\$121,	059.00
16	Non Emergency Light Bar					
16A	Installed, Work Vehicle	10 or more	\$2,593.00	\$25,930.00	\$3,798.00	\$37,980.00
16B	Installed Security Vehicles	1 or more	\$2,393.00	\$2,393.00	\$3,798.00	\$3,798.00
16C	NOT Installed, Security Vehicles	1 or more	\$2,593.00	\$2,593.00	\$2,695.00	\$2,695.00
**	NOT Installed, Work Vehicles	1 or more	\$2,393.00	\$2,393.00		
	ITEM 16 Total Extended Cost		\$33,3	309.00	\$44,4	473.00
			\$955.00 \$4,775.00 \$1,834.00			
17	8 Light LED Traffic Advisor	5 or more	\$955.00	\$4,775.00	\$1,834.00	\$9,170.00

				r of Oklahoma Inc., on Equipment		ve Equipment uring, Inc.	
ITEM	DESCRIPTION	Quantity	Unit Cost	Extended Cost	Unit Cost	Extended Cost	
18	Bed Liners						
18A	Drop-in Hard Plastic, Full Size 8-Foot Bed	1 or more	\$154.00	\$154.00	\$571.00	\$571.00	
18B	Drop in Hard Plastic, Full Size 6-Foot Bed	1 or more	\$154.00	\$154.00	\$542.00	\$542.00	
18C	Drop-in Hard Plastic, Mid Size Long Bed	1 or more	\$175.00	\$175.00	\$571.00	\$571.00	
18D	Drop-in Hard Plastic, Mid-Size Short Bed	1 or more	\$175.00	\$175.00	\$560.00	\$560.00	
18E	Rubber Mat, Full Size 8-Foot Bed	1 or more	\$150.00	\$150.00	\$224.00	\$224.00	
18F	Rubber Mat, Full Size 6-Foot Bed	1 or more	\$130.00	\$130.00	\$210.00	\$210.00	
18G	Rubber Mat, Mid-Size Long Bed	1 or more	\$130.00	\$130.00	\$224.00	\$224.00	
18H	Rubber Mat, Mid-Size Short Bed	1 or more	\$130.00	\$130.00	\$210.00	\$210.00	
181	Spray-Un Bed Liner, Full Size 8-Foot Bed, Spray Under Rail	10 or more	\$475.00	\$4,750.00	\$742.00	*7420.00	
18J	Spray-Un Bed Liner, Full Size 6-Foot Bed, Spray Under Rail	10 or more	\$450.00	\$4,500.00	\$720.00	\$7,200.00	
18K	Spray-Un Bed Liner, Mid-Size Long Bed, Spray Under Rail	3 or more	\$450.00	\$1,350.00	\$720.00	\$2,160.00	
18L	Spray-Un Bed Liner, Mid-Size Short Bed, Spray Under Rail	3 or more	\$450.00	\$1,350.00	\$720.00	\$2,160.00	
18M	96, 108, 132, Utility Service Body, Bed Floor, Bumper and Tops of Compartments	10 or more	\$1,150.00	\$11,500.00	\$1,534.00	\$15,340.00	
	ITEM 18 Total Extended Cost		\$24,6	48.00	*	\$37,392.00	
19	8,000 lb. Winch						
19A	Pickups, 6,000 GVW to 9,500 lb. GVW	5 or more			\$2,397.00	\$11,985.00	
19B	Heavy Duty Trucks, 9,600 GVW to 17,500 GVW	2 or more			\$2,542.00	\$5,084.00	
19C	Heavy Duty Trucks, 9,600 GVW to 17,500 GVW. Mounted in the Bed	1 or more			\$1,931.00	\$1,931.00	
	ITEM 19 Total Extended Cost				\$19,0	00.00	
20	2,400 Watt Power Inverter						
Option1	Option1, Mounted in Service Bodies	1 or more	\$3,925.00	\$3,925.00	\$3,988.00	\$3,988.00	
Option 2	Option 2, Mounted in Cabs of Pickup Trucks & Cab Chassis Trucks	1 or more	\$3,625.00	\$3,625.00	\$3,750.00	\$3,750.00	
	ITEM 20 Total Extended Cost		\$7,5	50.00	\$7,73	38.00	
21	Safety Chans & Hooks						
· ·	Class I, II, III	5 or more			\$454.00	\$2,270.00	
Option B	Class IV	5 or more			\$516.00	\$2,580.00	
Option C	Class V	2 or more			\$737.00	\$1,474.00	
	Sling Links						
· ·	Class I, II, III	2 or more			\$128.00	\$256.00	
	Class IV	2 or more			\$164.00	\$328.00	
Option F	Class V	2 or more			\$183.00	\$366.00	
	ITEM 21 Total Extended Cost					74.00	
22	Conspicuity Tap	5 or more			\$47.00	\$235.00	
	ITEM 22 Total Extended Cost				\$23	5.00	
23	Stake Bodies						
23A	8'6" Body (56" CA)	1 or more			\$4,740.00	\$4,740.00	
23B	9'6" Body (60" CA)	1 or more	\$6,118.00	\$6,118.00	\$4,906.00	\$4,906.00	
23C	10'6" Body (84" CA)	1 or more	\$6,353.00	\$6,353.00	\$5,180.00	\$5,180.00	
23D	12'6" Body (84" CA)	1 or more	\$7,225.00	\$7,225.00	\$5,703.00	\$5,703.00	
23E	14'6" Body (108" CA)	1 or more	\$7,375.00	\$7,375.00	\$6,247.00	\$6,247.00	
23F	16'6" Body (120"CA)	1 or more	\$7,950.00	\$7,950.00	\$6,736.00	\$6,736.00	
23G	18'6" Body (120"CA)	1 or more	\$8,350.00	\$8,350.00	\$7,327.00	\$7,327.00	
23H	20'6" Body (150" CA)	1 or more	\$8,775.00	\$8,775.00	\$7,902.00	\$7,902.00	

			Rush Truck Center of Oklahoma Inc., dba Perfection Equipment		All Wheel Drive Equipment Manufacturing, Inc.	
ITEM	DESCRIPTION	Quantity	Unit Cost	Extended Cost	Unit Cost	Extended Cost
231	22"6" Body (150" CA)	1 or more	\$9,675.00	\$9,675.00	\$8,354.00	\$8,354.00
23J	24' 6" Body (165" CA)	1 or more	\$9,925.00	\$9,925.00	\$9,269.00	\$9,269.00
Option 1	24" high Steel Contractors sides (priced per foot, one side)	1 or more	\$93.00	\$93.00	\$43.00	\$43.00
Option 2	40" high Steel Stake Sides (priced per foot, one side)	1 or more			\$58.00	\$58.00
Option 3	2" Pine Floor	1 or more				
Option 4	1 3/8" Apitong Floor (priced per foot)	1 or more			\$123.00	\$123.00
Option 5	3/16" Smooth Steel Floor	1 or more				
Option 6	Bulkhead	1 or more	\$950.00	\$950.00	\$718.00	\$718.00
Option 7	4" Tail Roller	1 or more			\$738.00	\$738.00
Option 8	4" Solid Tail Pipe on Bed	1 or more			\$361.00	\$361.00
Option 9	1,300 lb. Liftgate	1 or more	\$4,600.00	\$4,600.00	\$3,759.00	\$3,759.00
Option 10	Floor reinforcement for 3,200 lb. Crane Mounting	1 or more	\$4,600.00	\$4,600.00	\$1,681.00	\$1,681.00
Option 11	Floor reinforcement for 5,000 lb. Crane Mounting	1 or more	\$4,600.00	\$4,600.00	\$1,960.00	\$1,960.00
	ITEM 23 Total Extended Cost		\$86,5	589.00	\$75,8	05.00
24	Contractors Dum Body					
24A	8'6" Body (56" CA)	1 or more			\$17,304.00	\$17,304.00
24B	9'6" Body (60" CA)	1 or more	\$9,877.00	\$9,877.00	\$16,346.00	\$16,346.00
24C	10'6" Body (84" CA)	1 or more			\$16,552.00	\$16,552.00
24D	12'6" Body (84" CA)	1 or more	\$10,775.00	\$10,775.00	\$16,986.00	\$16,986.00
24E	14'6" Body (108" CA)	1 or more	\$12,275.00	\$12,275.00	\$17,356.00	\$17,356.00
24F	16'6" Body (120"CA)	1 or more	\$12,750.00	\$12,750.00	\$17,742.00	\$17,742.00
Option 1	3/16" Steel Treadplate Floor	1 or more			\$27.00	\$27.00
Option 2	3/16" Steel Smooth Floor	1 or more			\$21.00	\$21.00
Option 3	14" Steel Stake Sides w/Tailgate (Prices per foot)	1 or more			\$167.00	\$167.00
	ITEM 24 Total Extended Cost		\$45,6	677.00	\$102,501.00	
25	Utility Service Body	10 or more				
25A	96" Bed, "H" Model (56" CA) Single Wheel	2 or more	\$8,008.00	\$16,016.00	\$7,865.00	\$15,730.00
25B	96" Bed, "V" Model (56" CA) Single Wheel	2 or more	\$8,133.00	\$16,266.00	\$7,865.00	\$15,730.00
25C	96" Bed, Low Profile (56" CA)	2 or more	\$8,008.00	\$16,016.00	\$7,865.00	\$15,730.00
25D	108" Bed, (60" CA)	2 or more	\$10,500.00	\$21,000.00	\$9,465.00	\$18,930.00
25E1	108" Bed, Low Profile (60" CA) Single Wheel	2 or more	\$10,500.00	\$21,000.00	\$9,302.00	\$18,604.00
25E2	108" Bed, Low Profile (60" CA) Dual Wheel	2 or more	\$11,500.00	\$23,000.00	\$9,465.00	\$18,930.00
25F	132" Bed, Model (84" CA)	2 or more	\$13,500.00	\$27,000.00	\$11,675.00	\$23,350.00
Option 1	Bumper with Lift Gate Cutouts	2 or more	\$450.00	\$900.00	\$350.00	\$700.00
Option 2	Top Pak Top Opening 4' Deep Compartment	2 or more	\$1,005.00	\$2,010.00	\$1,238.00	\$2,476.00
Option 3	High Roof	1 or more				
Option 3A	108" Bed Model, 54" Roof	1 or more	\$14,300.00	\$14,300.00	\$4,786.00	\$4,786.00
Option 3B	108" Bed Model, 60" Roof	1 or more	\$14,650.00	\$14,650.00	\$5,177.00	\$5,177.00
Option 3C	108" Bed Model, 72" Roof	1 or more	\$14,825.00	\$14,825.00	\$5,688.00	\$5,688.00
Option 3D	132" Bed Model, 54" Roof	1 or more	\$16,025.00	\$16,025.00	\$5,489.00	\$5,489.00
Option 3E	132" Bed Model, 60" Roof	1 or more	\$16,450.00	\$16,450.00	\$5,784.00	\$5,784.00
Option 3F	132" Bed Model, 72" Roof	1 or more	\$16,825.00	\$16,825.00	\$6,356.00	\$6,356.00
Option 3G	Roll-Up Rear Door	1 or more	\$2,100.00	\$2,100.00	\$2,591.00	\$2,591.00
Option 3H	Pair of Conduit Doors, one each side with High Roof	1 or more	Included		\$541.00	\$541.00
Option 3I	Overhead Ladder Rack	1 or more	\$575.00	\$575.00	\$536.00	\$536.00
Option 3J	Side Mounted Ladder Rack	1 or more	\$825.00	\$825.00	\$345.00	\$345.00

	1			r of Oklahoma Inc., on Equipment		ve Equipment uring, Inc.
ITEM	DESCRIPTION	Quantity	Unit Cost	Extended Cost	Unit Cost	Extended Cost
Option 4	Right Rear Body Reinforcement for Mount 3,200 lb. Crane	2 or more	\$1,225.00	\$2,450.00	\$2,542.00	\$5,084.00
Option 5	Additional Shelving for 108" Body	2 or more	\$85.00	\$170.00	\$4,529.00	\$9,058.00
Option 6	Additional Shelving for 132" Body	2 or more	\$85.00	\$170.00	\$4,802.00	\$9,604.00
Option 7	Replace Shelving with Pull Out Drawers on 108" Body	2 or more	\$475.00	\$950.00	\$10,061.00	\$20,122.00
Option 8	Replace Shelving with Pull Out Drawers on 132" Body	2 or more	\$475.00	\$950.00	\$13,378.00	\$26,756.00
	ITEM 25 Total Extended Cost		\$244,	473.00	\$238,	097.00
26	38,000 lb. Crane Body (84" CA)	2 or more	\$19,425.00	\$38,850.00	\$26,467.00	\$52,934.00
Option 1	Additional Shelving Pkg for 38K Body	2 or more	\$1,414.00	\$2,828.00	\$1,360.00	\$2,720.00
Option 2	Tool Tray	2 or more	\$928.00	\$1,856.00	\$923.00	\$1,846.00
Option 3	Drop Well for Gas Bottles	2 or more	\$365.00	\$730.00	\$517.00	\$1,034.00
Option 4	Bottle Holders to secure Gas Bottles	2 or more	\$375.00	\$750.00	\$482.00	\$964.00
Option 5	Compartment Lighting	2 or more	\$1,335.00	\$2,670.00	\$1,235.00	\$2,470.00
Option 6	2 Flood Lights	2 or more	\$250.00	\$500.00	\$407.00	\$814.00
Option 7	Crane Boom Support	2 or more	\$525.00	\$1,050.00	\$484.00	\$968.00
Option 8	24" Work Bumper	2 or more	\$2,310.00	\$4,620.00	\$2,176.00	\$4,352.00
Option 9	12" Bumper	2 or more	\$1,250.00	\$2,500.00	\$1,081.00	\$2,162.00
Option 10	16.000 lb. Pintle Hitch	2 or more	\$500.00	\$1,000.00	\$473.00	\$946.00
Option 11	Valve Key Brackets	2 or more			\$643.00	\$1,286.00
Option 12	Ladder Racks	2 or more			\$129.00	\$258.00
	ITEM 26 Total Extended Cost		\$57,354.00		\$72,754.00	
27	50,000 lb. Crane Body	2 or more	\$33,400.00	\$66,800.00	\$37,140.00	\$74,280.00
Option 1	Additional Shelving Pkg for 50K Body	2 or more	\$1,625.00	\$3,250.00	\$1,502.00	*3004.00
Option 2	Tool Tray	2 or more	\$928.00	\$1,856.00	\$923.00	\$1,846.00
Option 3	Drop Well for Gas Bottles	2 or more	\$365.00	\$730.00	\$517.00	\$1,034.00
Option 4	Bottle Holders to secure Gas Bottles	2 or more	\$375.00	\$750.00	\$482.00	\$964.00
Option 5	Compartment Lighting	2 or more	\$1,335.00	\$2,670.00	\$1,462.00	\$2,924.00
Option 6	Floor Lights	2 or more	\$250.00	\$500.00	\$407.00	\$814.00
Option 7	Additional Flood Lights	2 or more	\$125.00	\$250.00	N/A	
Option 8	Crane Boom Support	2 or more	\$525.00	\$1,050.00	\$484.00	\$968.00
Option 9	24" Work Bumper	2 or more	\$2,310.00	\$4,620.00	\$2,348.00	\$4,696.00
Option 10	Valve Key Brackets	2 or more			\$643.00	\$1,286.00
Option 11	Ladder Racks	2 or more			\$129.00	\$258.00
Option 12	Pintle Hitch, 16,000 lb.	2 or more	\$500.00	\$1,000.00	\$473.00	\$946.00
Option 13	Air Pintle Hitch 90,000 lb.	2 or more	\$825.00	\$1,650.00	\$1,480.00	\$2,960.00
Option 14	Delete Drawers Compartment H	2 or more			-\$1,740.00	-\$3,480.00
Option 15A	Slide Out Shelf in Compartment D & J	2 or more	\$928.00	\$1,856.00	\$923.00	\$1,846.00
Option 15B			\$800.00	\$1,600.00	\$1,022.00	\$2,044.00
Space 10D	Spray-on Liner, Cargo Area	2 or more				
· ·	Spray-on Liner, Cargo Area Spray-on Liner, Bumper rear body, tops of Compartments	2 or more 2 or more	\$450.00	\$900.00	\$882.00	\$1,764.00
Option 16			\$450.00 \$4,900.00	\$900.00 \$4,900.00	\$882.00 \$4,418.00	\$1,764.00 \$4,418.00
Option 16	Spray-on Liner, Bumper rear body, tops of Compartments	2 or more				
Option 16 Option 17	Spray-on Liner, Bumper rear body, tops of Compartments Lift Gate 1,600 lb.	2 or more 1 or more	\$4,900.00		\$4,418.00 \$620.00	\$4,418.00
Option 16 Option 17	Spray-on Liner, Bumper rear body, tops of Compartments Lift Gate 1,600 lb. Labor to Mount Lift Gate to 50K Body	2 or more 1 or more	\$4,900.00	\$4,900.00	\$4,418.00 \$620.00	\$4,418.00 \$620.00
Option 16 Option 17 Option 18	Spray-on Liner, Bumper rear body, tops of Compartments Lift Gate 1,600 lb. Labor to Mount Lift Gate to 50K Body ITEM 27 Total Extended Cost	2 or more 1 or more 1 or more	\$4,900.00	\$4,900.00	\$4,418.00 \$620.00 *	\$4,418.00 \$620.00 \$103,192.00
Option 16 Option 17 Option 18 28	Spray-on Liner, Bumper rear body, tops of Compartments Lift Gate 1,600 lb. Labor to Mount Lift Gate to 50K Body ITEM 27 Total Extended Cost 5 Cubic Yard Steel Dump Body (84" CA)	2 or more 1 or more 1 or more 2 or more	\$4,900.00	\$4,900.00	\$4,418.00 \$620.00 * \$21,879.00	\$4,418.00 \$620.00 \$103,192.00 \$43,758.00

			Rush Truck Center of Oklahoma Inc., dba Perfection Equipment		All Wheel Drive Equipment Manufacturing, Inc.	
ITEM	DESCRIPTION	Quantity	Unit Cost	Extended Cost	Unit Cost	Extended Cost
Option 4	Tool Box	2 or more			\$594.00	\$1,188.00
Option 5A	Rumbar Side Boards	2 or more			\$581.00	\$1,162.00
Option 5B	Steel Side Boards	2 or more			\$640.00	\$1,280.00
Option 6	Air Controls for Raising Bed (NOT REQUIRED IF QK CONNECT HYD SYSTEM IS USED)	2 or more			\$622.00	\$1,244.00
Option 7	20" Steps in Place of Ladder	2 or more			\$313.00	\$626.00
	ITEM 28 Total Extended Cost				\$74,0	96.00
29	5 Cubic Yard Stainless Steel Dump Body (84" CA)	1 or more			\$28,553.00	\$28,553.00
Option 1	Central Hydraulic System	1 or more			\$10,970.00	\$10,970.00
Option 2	Spread Apron	1 or more			\$456.00	\$456.00
Option 3	16,000 lb. Pintle Ball Hitch	1 or more			\$993.00	\$993.00
Option 4	Tool Box	1 or more			\$594.00	\$594.00
Option 5A	Rumbar Side Boards	1 or more			\$581.00	\$581.00
Option 5B	Steel Side Boards				\$640.00	\$640.00
Option 6	Air Controls for Raising Bed (NOT REQUIRED IF QK CONNECT HYD SYSTEM IS USED)	1 or more			\$622.00	\$622.00
	ITEM 29 Total Extended Cost				\$43,4	109.00
30	10 Cubic Yard Steel Dump Body (120" CA)	2 or more			\$26,693.00	\$53,386.00
Option 1	Central Hydraulic System	2 or more			\$10,970.00	\$21,940.00
Option 2	Spread Apron	2 or more			\$456.00	\$912.00
Option 3	16,000 lb. Pintle Ball Hitch	2 or more			\$993.00	\$1,986.00
Option 4	Tool Box	2 or more			\$594.00	\$1,188.00
Option 5A	Rumbar Side Boards	2 or more			\$581.00	\$1,162.00
Option 5B	Steel Side Boards	2 or more			\$640.00	\$1,280.00
Option 6	Air Controls for Raising Bed (NOT REQUIRED IF QK CONNECT HYD SYSTEM IS USED)	2 or more			\$622.00	\$1,244.00
Option 7	1/4" Floor	2 or more			\$451.00	\$902.00
Option 8	20" Steps in Place of Ladder	2 or more			\$293.00	\$586.00
	ITEM 30 Total Extended Cost				\$84,5	586.00
31	13 Cubic Yard Steel Dump Body (126" CA)				\$26,981.00	\$53,962.00
Option 1	Central Hydraulic System	2 or more			\$10,970.00	\$21,940.00
Option 2	Spread Apron	2 or more			\$456.00	\$912.00
Option 3	16,000 lb. Pintle Ball Hitch	2 or more			\$993.00	\$1,986.00
Option 4	Tool Box	2 or more			\$594.00	\$1,188.00
Option 5A	Rumbar Side Boards	2 or more			\$632.00	\$1,264.00
Option 5B	Steel Side Boards	2 or more			\$676.00	\$1,352.00
Option 6	Air Controls for Raising Bed (NOT REQUIRED IF QK CONNECT HYD SYSTEM IS USED)	2 or more			\$622.00	\$1,244.00
Option 7	1/4" Floor	2 or more			\$467.00	\$934.00
Option 8	20" Steps in Place of Ladder	2 or more			\$293.00	\$586.00
	ITEM 31 Total Extended Cost				\$85,3	68.00
32	13 Cubic Yard Stainless Steel Dump Body (126" CA)	1 or more			\$37,633.00	\$37,633.00
Option 1	Central Hydraulic System	1 or more			\$10,970.00	\$10,970.00
Option 2	Spread Apron	1 or more			\$456.00	\$456.00
Option 3	16,000 lb. Pintle Ball Hitch	1 or more			\$993.00	\$993.00
Option 4	Tool Box	1 or more			\$594.00	\$594.00
Option 5A	Rumbar Side Boards	1 or more			\$632.00	\$632.00

			Rush Truck Center of Oklahoma Inc., dba Perfection Equipment		All Wheel Drive Equipment Manufacturing, Inc.	
ITEM	DESCRIPTION	Quantity	Unit Cost	Extended Cost	Unit Cost	Extended Cost
Option 5B	Steel Side Boards	1 or more			\$676.00	\$676.00
Option 6	Air Controls for Raising Bed (NOT REQUIRED IF QK CONNECT HYD SYSTEM IS USED)	1 or more			\$622.00	\$622.00
Option 7	1/4" Floor	1 or more			\$467.00	\$467.00
Option 8	20" Steps in Place of Ladder	1 or more			\$293.00	\$293.00
	ITEM 32 Total Extended Cost				\$53,3	36.00
33	11 Cubic Yard Steel Rip Rap Dump Body (126" CA)	2 or more			\$30,793.00	\$61,586.00
Option 1	Central Hydraulic System	2 or more			\$10,970.00	\$21,940.00
Option 2	Pintle Ball Hitch, 16,000 lb.	2 or more			\$993.00	\$1,986.00
Option 3	Pintle Ball Hitch, 90,000 lb.	2 or more			\$1,297.00	\$2,594.00
Option 4	Tool Box	2 or more			\$594.00	\$1,188.00
Option 5	Trailer Tow Package	2 or more			\$1,620.00	\$3,240.00
Option 6	Air Controls for Raising Bed (NOT REQUIRED IF QK CONNECT HYD SYSTEM IS USED)	2 or more			\$622.00	\$1,244.00
Option 7	Hydraulic Tail Gate	2 or more			\$3,480.00	\$6,960.00
Option 8	Spread Apron	2 or more			\$456.00	\$912.00
Option 9	20" Steps in Place of Ladder	2 or more			\$293.00	\$586.00
Option 10	Chain & Boomer Rack (Add 8" to Chassis CA)	2 or more			\$429.00	\$858.00
Option 11	2" Oak Side Board Extensions	2 or more			\$431.00	\$862.00
	ITEM 33 Total Extended Cost				\$103,	956.00
34	12 Cubic Yard Steel Rip Rap Dump Body (126" CA)	2 or more			\$31,684.00	\$63,368.00
Option 1	Central Hydraulic System	2 or more			\$10,970.00	\$21,940.00
Option 2	Pinch Ball Hitch 16,000 lb.	2 or more			\$993.00	\$1,986.00
Option 3	Pinch Ball Hitch 90,000 lb.	2 or more			\$1,297.00	\$2,594.00
Option 4	Tool Box	2 or more			\$594.00	\$1,188.00
Option 5	Trailer Tow Package	2 or more			\$1,620.00	\$3,240.00
Option 6	Air Controls for Raising Bed (NOT REQUIRED IF QK CONNECT HYD SYSTEM IS USED)	2 or more			\$622.00	\$1,244.00
Option 7	Hydraulic Tail Gate	2 or more			\$3,480.00	\$6,960.00
Option 8	Spread Apron	2 or more			\$456.00	\$912.00
Option 9	20" Steps in Place of Ladder	2 or more			\$293.00	\$586.00
Option 10	Chain & Boomer Rack (Add 8" to Chassis CA)	2 or more			\$429.00	\$858.00
Option 11	2" Oak Side Board Extensions	2 or more			\$431.00	\$862.00
	ITEM 34 Total Extended Cost				\$105,	738.00
35	14 Cubic Yard Steel Rip Rap Dump Body (132" CA)	2 or more			\$32,417.00	\$64,834.00
Option 1	Central Hydraulic System	2 or more			\$10,970.00	\$21,940.00
Option 2	Pintle Ball Hitch 16,000 lb.	2 or more			\$993.00	\$1,986.00
Option 3	Pintle Ball Hitch 90,000 lb.	2 or more			\$1,297.00	\$2,594.00
Option 4	Tool Box	2 or more			\$594.00	\$1,188.00
Option 5	Trailer Tow Package	2 or more			\$1,620.00	\$3,240.00
Option 6	Air Controls for Raising Bed (NOT REQUIRED IF QK CONNECT HYD SYSTEM IS USED)	2 or more			\$622.00	\$1,244.00
Option 7	Hydraulic Tail Gate	2 or more			\$3,480.00	\$6,960.00
Option 8	Spread Apron	2 or more			\$456.00	\$912.00
Option 9	20" Steps in Place of Ladder	2 or more			\$293.00	\$586.00
Option 10	Chain & Boomer Rack (Add 8" to Chassis CA)	2 or more			\$429.00	\$858.00
Option 11	2" Oak Side Board Extensions	2 or more			\$431.00	\$862.00

_	F		Rush Truck Center of Oklahoma Inc., dba Perfection Equipment		All Wheel Drive Equipment Manufacturing, Inc.		
ITEM	DESCRIPTION	Quantity	Unit Cost	Extended Cost	Unit Cost	Extended Cost	
	ITEM 35 Total Extended Cost				\$107,204.00		
	TOTAL COST NOT TO EXCEED: (All costs must be included or your bid will be disqualified)		\$1,023,783.00		*\$1,827,651.00		
	Delivery:			I ead time varies Depending on Equipment		30 to 150 days from receipt of purchase order(s)	
	Annual Price Adjustment:					2.50%	
				**Item added by vendor. Item not included in exhibit A of solicitation.		based on unit cost.	